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e Please check that this question paper contains 5 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 19 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
(i) Attempt all sections.

(it)  Illustrate your answers wherever possible.

©us <h
SECTION A
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Attempt all questions.

1. 38 WSHRM JUMel i A Fasy [FeH AR *1 Th 99 Th 999 T Th al

IRY™ 9 %R L B |

Name the production system in which a group of operators work on one

garment at a time.

2. WHM-ET T SEA TRT BIT & SR ST § ITSAT TE B ?

Which stitch type is very secure and does not rip open easily ?

3. 39 WA 1 AW JARY AN AHIR T IS & 18X Il TG B oh fIC FA0 H

STt & |

Name the machine which is typically used for reinforcing ends of pocket

openings.

4. T8l q wiohed 1 A0 FATST |

Name any two plackets.

5.  fohdl Ql HEA-TFH % HUS] hl AH FATST |
Name any two medium-weight fabrics.
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SECTION B
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Give very short answers.

10.
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What is the role of computer controlled overhead transporters in a unit
production system ?
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What is the function of a flat-bed sewing machine ?
OR

How is the needle in a blind stitch machine different from the needle in a
lock-stitch machine ?
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Give the workflow for assembling a Kalidar Kurta.
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Define crossway strips.
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List various measurements required for buying fabric for a nighty.
OR

What width of fabric is commonly used for stitching a men’s shirt ?
Calculate the amount of fabric required for stitching a men’s shirt.
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SECTION C
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Write short answers in 50 - 75 words each.

11.

12.

13.

14.

15.
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What points should be kept in mind while evaluating seams in a stitched
garment ?

S ! GUA T JTHM T IR I H F1 Hgwwol g ?
AYAT

Hicd Sl IRATNG HIVT 7R fafia TR o wic™ ! Fiffed hHINT | T
a1l =1 Tsh IeTel ST |

Why is estimation of fabric consumption important in the garment
industry ?

OR

Define collars and classify various types of collars. Give one example of
each class.
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Explain the method of stitch formation in a lock-stitch machine.
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Explain the working of a buttonhole machine.
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What are the advantages of the progressive bundle system ?

OR

How is flexible manufacturing a progressive approach to garment
manufacturing ?
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SECTION D
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Write descriptive answers in 100 - 150 words each.

16.

17.

18.

19.
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Explain the role of computers in the garment manufacturing industry.
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Give the difference between underlining and interlining.

frefefiad 9 & foheel g7 ol FHEST - 5
(1)  STrerarsh A

(@) foA-fh asia

(@) ==-feca mefia

Explain any two of the following :

(a)  Overlock machine

(b)  Pin-tucking machine

(¢) Chain-stitch machine
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Your customer wants a Salwar and a Kameez made for her. How would
you calculate the amount of fabric required for each garment separately ?

OR

List various parts of a choli-cut blouse. How will you calculate the fabric
required for the same ? Show its pattern layout on 36” width fabric.
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